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QUESTION 1

What is the act of exchanging one lock an application holds on a resource for a more restrictive lock on the same
resource known as?

A. Lock escalation

B. Lock substitution

C. Lock switch/exchange

D. Lock conversion/promotion

Correct Answer: D

QUESTION 2

A table named DEPARTMENT contains the following data:

DEPTHC DEPTMAME MGREND ADMRDEPT
A1 PLAMMING aooozo - Ado
BOZ BREANCH OFFICE 1 - EO1
c22 BRANCH OFFICE 2 - EO1
D22 BRANCH OFFICE 3 - EO1
E22 BEANCH OFFICE 4 - EO1

If & user attempts to execute the following statement:

LUFPDATE employee SET workdept =
(SELECT deptno FROM department WHERE admrdept LIKE 'E%")
WHERE wiorkdept [5 MULL;

What will happen?
A. The statement will fail because a subquery cannot be used in an UPDATE statement.
B. The statement will fail because the result set produced by the subquery will contain more than one row.

C. The statement will succeed; the last record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation.

D. The statement will succeed,; the first record retrieved by the subquery will be used to provide a WORKDEPT value for
the update operation.

Correct Answer: B

QUESTION 3
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Which SQL statement will take the ability to create tables in a table space named MYTBSP away from user USER1?
A. REVOKE USE OF TABLESPACE mytbsp FROM userl

B. REVOKE ALTER ON TABLESPACE mytbsp FROM userl

C. REVOKE UPDATE OF TABLESPACE mytbsp FROM userl

D. REVOKE CREATETAB ON TABLESPACE mytbsp FROM userl

Correct Answer: A

QUESTION 4

When an index is created for a table, where is the metadata for that index stored?
A. In the table definition.

B. In the system catalog.

C. In the schema that the index resides in.

D. In the metadata of the table the index was created for.

Correct Answer: B

QUESTION 5

After creating several new indexes and executing RUNSTATS, user USER1 wants to re-create a package that is stored
in the database so it will take advantage of the new indexes. Which authority/privilege must user USER1 be granted in
order to re-create the package?

A. BIND

B. REBIND

C. BINDADD

D. BIND_REBIND

Correct Answer: A
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